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JE{Z K4 FEHFI—X ouT IN GROSS
1 B3 HfeF Y= -ER 39 34 73
2 JUFH &= BE 40 38 78
3T mlE & KIRPG 44 40 84
3T J%Ey %.%E - HERE 42 42 84
5T =F &F Pk 44 41 85
5T HERE 8 R 46 39 85
7 REE BE ATA 43 43 86
8T A = dt#pE 44 43 87
8T B S KRPG 45 42 87
10T BER NEF dt#pE 44 44 88
10T fetg EHHE =R 47 41 88
10T AIE ERF =R 45 43 88
10T R EF t#pE 45 43 88
14T B2 EX R 44 45 89
14T RS v—h-4'vay7 45 44 89
14T —% EF| Fik g 44 45 89
17T FHE ATA 47 43 90
17T BH EXK 4YAy7 45 45 90
17T FH EF = 42 48 90
20T =i Hid e 45 46 91
20T [ING=E S = 46 45 91
22T FE E R 48 44 92
22T EH g T e 46 46 92
22T LI T & e 46 46 92
22T BEX EBEF =R 46 46 92
26T AR FE fik il 51 42 93
26T = BF = 46 47 93
26T BHE &F BE 47 46 93
26T FH HEY e 46 47 93
26T hE FER 4y0y37 47 46 93
31T =l HEF =R 45 49 94
31T = kKF KERPG 49 45 94
33 HER FNF fik i 45 50 95
34 T EF R 46 50 96
35T mE IFE Pkl 47 50 97
35T IR, [k D 52 45 97
37T T #8F e 51 47 98
37T INET TRE =R 47 51 98
39T [RE EMF BE 52 48 100
39T AR FH t#pE 45 55 100
39T IR mF =R 53 47 100
39T Mg mE =R 47 53 100
43T AE BT =R 55 46 101
43T He 2R 4'yay7) 48 53 101
43T HER EF = 52 49 101
43T Kig mF =R 51 50 101
43T L RF t#pE 52 49 101
48T P S =R 58 46 104
48T fAiZz & e 51 53 104
50 T E BE 56 49 105
51 KN _## ATR 51 55 106
52 =R AHC e 56 52 108

1/2R=




53 B8Il XF =i 55 56 111
54 sdtH O ERF =i 63 51 114
55 58 =8 B 63 59 122
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